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  Date
  Class



Algebraic Reasoning
Practice A: Properties of Numbers

Tell which property is shown.


1.
5  0  5
2.
8 • (6 • 2)  (8 • 6) • 2


3.
9  8  8  9
4.
4 • 1  4

Simplify each expression. Write a reason for each step.


5.
13  28  7



13  28  7  28  13  7

Reason: Commutative Property



 28  (13 + 7)

Reason: _________________



 28  ______

Reason: Add.



 ______

Reason: _________________


6.
20 • (17 • 5)



20 • (17 • 5)  20 • (______ • 17) 

Reason: _________________



 (20 • ______) • 17 

Reason: _________________



 __________ • ______ 

Reason: Multiply.



 __________

Reason: _________________
Use the Distributive Property to find each product.


7.
4(17)
8.
3(28)



4(17)  4 • (10  ______)

3(28)  _________________




 (4 • ______)  (4 • 7)

 _________________




 ______  ______

 _________________




 ______

 _________________

Puzzles, Twisters & Teasers


1.
T
2.
F


3.
F
4.
T


5.
F
6.
T


7.
T
8.
F


9.
T

YOUR FEET OFF THE FLOOR

Answers for Lesson 2

Practice A


1.
Identity Property


2.
Associative Property


3.
Commutative Property


4.
Identity Property

Answer for the below are given from 
left to right


5.
20; 48; Associative Property; Add


6.
5; 5; 100; 17; 1,700; Commutative Property; Associative Property; Multiply

7.
7; 10; 40; 28; 68


8.
Possible work shown.



3 • (20  8);
(3 • 20)  (3 • 8);



60  24; 84

Practice B


1.
Commutative Property


2.
Identity Property


3.
Associative Property


4.
Associative Property


5.
Possible answers are given.



9 • 4 • 50; Commutative Property



9 • (4 • 50); Associative Property



9 • 200; Multiply.



1,800; Multiply.


6.
Possible answers are given.



(45  33)  7; Commutative Property



45  (33  7); Associative Property



45  40; Add.



85; Add.


7.
Possible work shown.



3 • (20  6);
(3 • 20)  (3 • 6);
60  18;
78


8.
Possible work shown.

 

(20  2)9;
(20 • 9)  (2 • 9); 
180  18;
162

Practice C


1.
0; Identity Property


2.
7; Distributive Property


3.
45; Commutative Property


4.
14; Associative Property


5.
Possible answers are given.



(7 • 40) • 5; Commutative Property



7 • (40 • 5); Associative Property



7 • 200; Multiply.



1,400; Multiply.


6.
Possible answers are given.



98  15  85
; Commutative Property



98  (15  85); Associative Property



98  100; Add.



198


7.
7 • (40  3);
(7 • 40)  (7 • 3);



280  21;
301


8.
(600  3) • 4;
(600 • 4)  (3 • 4); 
2,400  12;
2,388
Review for Mastery


1.
45; Commutative
45; 25; Associative
70;
109
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